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TTHT=T 3397 :
(i) 1 37% Jict 3971 & I U 91 & Uk qiaFT % &1 |

(i) 3 3P It I & FH 50 - 75 Fecl & &1 /
(iii) 4-5 37H] FIc? Fo1 & IR TTHT 150 53] & 51 /
(iv) 6 3Hl Jrcd Fo1 & I TTY7T 200 el & &7 /

()  TF IJHT F Gt 9T GIg-gqr9g & &7 i |

General Instructions :

(1) Answers to questions carrying 1 mark may be from one word to one
sentence.

(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.
(iit) Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. Torchealehtol ol YRATNG HIT |

Define ‘Decentralisation’.

2. T19ISF % T YR % ®9 # T w1 279 Fansy |
Give the meaning of ‘Method’ as a type of plan.
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3. TRV 9 Hichcic IUTE 1 Ush FIE™ U i o1 [Huig foram | gom oy |
394 fashd W 109% @19 ARG = o1 aed [aifa foman | e 1= =Jeurt &
qd 98 Fa|™ o wfesy, St fh Afafeaa on, & 9n # faf<a ar | 38 g
TSI i foh Fieherel i AT feA-ufafer s W 8 | 389 =1 &1 WA 39
ufosy d e & U MR &% w9 ° TR 9un 3@ oAwt dW % @iy dmEn
feRaT | TR AT o STUR WX g3l <l Ifd o oI 38 e fafert &1 arn
T 7g 3T Tl TT8 § Teh S3eh bl STRATSH Thall |

Y=g o Ush i ohl UihdT ¥ Traf-2d HRY gRT IAUATE U g ol RO <hl
el SA 15T | 1

Saurabh decided to start a chocolates manufacturing business. He set the
target of earning 10% profit on sales in the first year. As a good
businessman, he was concerned about the future of the business, which
was uncertain. He gathered information that the demand for chocolates
is increasing day-by-day. He used this information as the base for future
planning and shared it with his team. On the basis of the gathered
information, he scheduled a meeting in the following week to find
innovative ways to achieve the objectives.

List the first two steps, which have been followed by Saurabh that are
related to the process of one of the functions of management.

4. U 3Em U fafim R & Ui % IcUTEd 7q [Afid YR & w= Oa @ e
Ul H Uty o Wi A STar 3 | U Icugeh HHfEl Wl U fofdmse
F AT A U T FAfia ®9 @ 3ucrey T8 3 | SFeR U™ S oft 3|
AEIT Rl GTHAT R W@l & 9T 3Heh hRUT 3CY o4 T AT hl diEdiaeh ®9 H
qTed A o ST AT AT & | Wik, Tsh SR 5o 3 sheAl AT ITSd &1 ST 8
ql 38 IR 9T | ialdd s § SH T9I o 2 |
39 I ohl A SNt ohl HTGTIHRAT i THIGd i dTel DR hl TgAH
sifs | 1

In the paint industry, various raw materials are mixed in different
proportions with petroleum for manufacturing different kinds of paints.
One specific raw material is not readily and regularly available to the
paint manufacturing companies. Bonler Paints Company is also facing
this problem and because of this there is a time lag between placing the
order and the actual receipt of the material. But, once it receives the raw
materials, it takes less time in converting it into finished goods.

Identify the factor affecting the working capital requirements of this
industry.
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T fawes 91 Tt it o1afy & faw T 20,000 357 IR 9= (9 foat) #
TareT =T ITEaT o | 99 IEH YR 9 O ¥ 39 3% b 4 g¥eh TR
ql 3Y a1 I ok T8 Y T8 o |

Fass R go SR YU (SSRY foret) B e 9 9 "ok & ROl il e
hifoTT |

An investor wanted to invest ¥ 20,000 in Treasury Bills for a period of
91 days. When he approached the Reserve Bank of India for this purpose
he came to know that it was not possible.

Identify the reason why the investor could not invest in the Treasury Bill.

“Torqu Jewee ST (STEumune)’ i THe HEqul FEi § ?

Why is the understanding of ‘Marketing Management Philosophies’
important ?

TR TRE0T fufm, 1986 o IT=aiid e Iudih faeme famor wre i
LT ST |

Give the constitution of the District Consumer Disputes Redressal Forum
under the Consumer Protection Act, 1986.

TS WIH T 3¢91G o Johsl o Oied T Toh TTCT T g W3 BT 53T
2|

30 % g frsarfea fepu e stafert & Rt w1 Seorg i |

‘Buy one get one free’ is printed on the label of the package of a mosquito
repellant.

State the labelling function being performed by this statement.

(i) 3, (ii) ATTPR, TAT ({ii) TYUYU-JATE o AR W LTS 9 ST
ST | 3T=a¥g T |

Differentiate between formal and informal organisations on the basis of
(i) origin, (ii) authority, and (iii) flow of communication.



10. TSR TIEATHR 6 9= qol i (TSTR) Ted1d & qd 92 Ufsham o SOl 1
3och@ I | 3

State the steps in the selection procedure, after the employment
interview and before the job offer.

11. T GE-0 ST hl Ueh % Ja-deh & | 39k AL H1 i Il 91E
SRRl hl T AW B | 98 I= I 3299 Fuifa e qen folg @9 & fag
UG T B | 98 b fa=Ri o1 3Te 9 GHYH il 8, dlfeh 9 319 hdedi ol
fiearfed ot Teh a1 TTSATCHeh IedT shl TTftd o Heh | Ya-9 Ug UHTell o=
7q 98 "qg | foemm v o1 3w et 8 |

T FGHH Yo-gsh o ®9 H a8 HH-HHl SHIANG GRIN0 %k HHRIHS
gl 1 Hl ITAM w7 | W TR I8 fafay f&di 1 whihd v # 9%
Bt 2 qe I8 gHfvaa w7 fo @i i wiftd & S

(%) <N % FGER sl quTfad i & foru fafim yer & fagra e ferr
2 | TE g T § |18 TS el Y ugeH hIfe S AfeeRrl o 3w
T ITYTRE 7 |

(@) 3Iudh Afd TN % g FHNIHD TgGsTl 1 Iooi@ hifoy Sreeht
HEAT T fgHH Ja-4eh o &9 § T L & 8 | 3

Sandhya is a successful manager at Manisons Enterprises. She has a
team of twelve people working under her. She encourages them to set
their own objectives and take decisions. She respects their opinions and
supports them, so that they can perform their duties and accomplish
organisational objectives. To manage and exercise effective control she
uses forces within the group.

As an intelligent manager, at times, she also makes use of positive
aspects of informal communication. This way, she is able to unify diverse
interests and ensure that targets are met.

(a) There are many theories and styles of influencing people’s
behaviour. Identify the style used by Sandhya which is based on
the use of authority.

(b)  State two positive aspects of the communication discussed above,
which Sandhya is using as an intelligent manager.
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Th T T U9l 9 a9 &1 9w © 9™ (ROD) 10 — 12% A& 7 |
1o Wt Tomrft gSht STravEeharsti o forie o foTw 8k 918 T 39R T %
freafafaa fasmeq 2 -

faped F : 9% R

Pt @ @ 13% N

T Gid o &Y | foashed & A¥aT foshed @ U § HI9-A7 g8 § ? 310 IW
% THeE o wner dfv | @y & o TR # ugw saumon w1 ot Seoie
HIT |

The Return on Investment (ROI) of a company ranges between
10 — 12% for the past three years. To finance its future fixed capital
needs, it has the following options for borrowing debt :

Option ‘A’ : Rate of interest 9%

Option ‘B’ : Rate of interest 13%
Which source of debt, ‘Option A’ or ‘Option B’, is better ? Give reason in
support of your answer. Also state the concept being used in taking the
decision.

EER H 3 H ITHIKH WEU b W & [heal q (gl H GEY H
HHATRT |

Explain briefly any two points of importance of consumer protection from
the point of view of business.

AT a1 e Fen! Tl & @ fie fawm & gRean 8 | 9 $9a e
8 T -3 faumit % fsure @t gumd % fou sd=nfe o gf we |
Thd & | auU, ITH b ILA ! TItd W &I S & ST -3
foramehetTa o &1 T ISSdT U R Sl ST o HRUT LT g Ted o fIumm
o o9 foem-fomsl § ThEe 39 B R § | ERIa: 3 0l ST ri
foaTg 3099 &1 91d & a7 o T et g1 70 & | I8 eI 3e3al i g
[T gTepies g g3 @ | el 30 € e e 81 7 fof Tmen! fafies’
% &I FHRIBRI BT (CEO) Tl THET & THIGH gq Teh THRIGHAT o €9 H
it i e et ot | feafa 1 efie & s1eE e o 9vErg WHT i adr
TAT Toh TG AT TT9S QI hl HSRAT qAT FHI=Id GV oh HRU THE
3c9H g% o | 39k ud ? b g feufa awenl fufies’ gru s1oems 18 |vrerensh
GTEAT 1 9oy 7 |

ST Ge A Iuen! ffiee’ g SAUATE T WSS ST ohl TESH hifery
AT 39 ThT T T8 GET o fohral di9 TATHT 1 Iooid shifolg |
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Aradhana and Gandharv are heads of two different departments in
Yumco Ltd.” They are efficient managers and are able to motivate the
employees of their respective departments to improve performance.
However, their drive to excel in their own sphere of activity instead of
giving emphasis on objectives of the enterprise has hindered the
interaction between the departments that Aradhana and Gandharv are
heading. Often there are inter-departmental conflicts and they have
become incompatible. This has proved to be harmful in the fulfilment of
the organisational objectives. The situation has deteriorated to such an
extent that the CEO of ‘Yumco Ltd.” has hired a consultant, Rashmi, to
resolve the problem. After studying the situation closely, Rashmi found
that the problem has arisen due to inflexibility and a narrow perspective
on the part of both Aradhana and Gandharv. She is of the view that this
situation is a result of the type of organisational structure ‘Yumco Ltd.’
has adopted.

From the above information, identify the organisational structure
adopted by ‘Yumco Ltd.” and state any three advantages of the structure
so identified.

15. 9% 2015 #, T&H 7 g H 941 foATarul Sitaq @ e, el 98 < 9%
fafiee 4 T Yerash & ®9 § HRAG A1 | WE Hl 25-THS Ugeh YH H TH
39S HH # gfEfda e % 1ot T 6 e H G FE g 98 SHEE
SR H TAFTARG 8 T | 38 e 3u+ fafimse Ievar qon 39 3w hi it
7g Femfea 1 S areft nfafafert = Ffeaa e |

for I8 WSl < fowa # MU o1, 37a: Yo Tty Ao off | 38
H-10E ¥ SIS0 Tk Yok TMdafaty et | framr i gemar & fag e
T Tk HFIA TG Wieheer Hicgw—d WTgae fAfiee’ sy i |

TRH H Ig A hiod AT FAlfeh Teh I AT G Teohami ol WSl o fowd &
A o T Topelt 1 fagams 761 o | o S S fawy W faeqd == 8
a9 foraml 4 I8H @ o1 TR R T | 98 wiell gedtedi i yHEqy €9 ¥
HITT o HAfThaH ATHHER =fed gH ol Hfeea Sr =mgar o | fosea qaigaH
o WY W, 3G 3cuTe Ud Tk Shi Ueh anfieh JieHT sH1% |
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39 I8 oft <@ T fora™ hadd 9™ ITd & ST fh ohaet 9N & 3 — 4 HEHT AT
FE o1 AR TY h 8 — 9 WM YW R TSI el off | 3T 7 haw 3 fafi=
fospedt <t gga™ 1 Afug 39T Yo ot foran ek g @al i ad @ 39
TEHT o T 3= H AR ST Gehar o1 | At 9 o favelwor o U W
3fA LG a1 qehqul Ud SHafed | grI foepedi o1 qlieor 9 qedteh feha
T | 39 ToREI bl T WEH A1 & ek g0 g Sl Shers o IvETq dfesdl
IS ST Fehdl off |

3w feafa werg & s & i fomivaren & yehIfsd ot 7 | 39 @
qftRal I 3gd Hd BT 3 ToRINarstl shi qg=™ hIRY do I 7Sy |

In 2015, Naveen left his luxurious life in Mumbai, where he worked as a
manager for Blue Birds Ltd. He shifted to Begampur, Chhattisgarh to
fulfil his grandmother’s dream of converting their 25-acre ancestral land
into a fertile farm. For this he set out specific goals along with the
activities to be performed to achieve the goals.

Every activity was a challenge since he was clueless about farming. He
learnt every activity from filling the land to sowing the seeds. To aid
farmers he launched his own company ‘Innovative Agriculture Solutions
Pvt. Ltd’.

It was difficult initially as no one trusted an urban youth telling farmers
about farming. But when everything was discussed in detail the farmers
started taking interest. He wanted to ensure that the future events meet
effectively the best interests of the company. Through sales forecasting,
he prepared an annual plan for production and sales.

He also found that the farmers grew only paddy, which was an activity of
3 — 4 months and the land remained idle for the rest 8 — 9 months of the
year. He not only identified but evaluated various alternatives through
which the farms could be utilised for the remaining months of the year.
Through correct foresight and logical and systematic thinking based on
analysis of all facts, all alternatives were examined and evaluated. He
presented a plan to the farmers, where after harvesting paddy,
vegetables could be grown.

The above case highlights the features of one of the functions of
management. By quoting lines from the above identify and explain these
features.



16. TS % I %1 o HEw & foheal 9R fog3l ! GHEATST | 4

Explain any four points of importance of the controlling function of
management.

17. T O 9ad H@dl, T[S Fedecd % H&I HERRA AUHA,

TH qd, 4 39 A o fAfchcael o 378 F hl [Hd S H1 HI™
o | sueh w35 &1 =« 2t Tonfud 6l | T ‘Booehar U™ bl 3
Fafercaenl & 3T T 1 MR I TG L o 0 =H 701
frwened fard wgm i qen gEd S S=eA g UE fafeRcdshl o Ichte HE
! FHTHG % o fou 9= anferepi-s=ma & faw s fomam |

& HIEIBRI HURRT G-H o A0 & ° off Tareed Hansti sl a1 argdl
o1 | 3uq ol fern fop avft fafoheas oo &1 § -89 ©: oA Sravy
FR B | 3T Fg ot ol forn fob wafafereashia swd=niEl 6t TR s

STYR I h ST |

(%) <A MBI AW & TShW gifeueed gHI 3194 Tafohearehi sl YgH U
T YTk <hl Y89 hHifou |

(@) 9T (%) # ggaH fohu MU Ik grr Tafehcashi i fohe stawrehan <t gfd
B ? 3eor@ T |

(M) " TR T eIl N Sooi@ hIY e TSR BifTuecd % HEd
FHRIH MR THTST ol TN T 9TEd 2 | 4

Ram Murthy, the CEO of ‘Goodcare Hospitals’, a leading chain of
hospitals, decided to reward the good work of the doctors of his
organisation. For this he instituted two running trophies. A ‘Healthcare
Achievers Trophy’ to acknowledge and appreciate the tireless efforts of
the doctors who rendered selfless services to the patients and another
‘Beti Bachao Trophy to recognise the outstanding work done by the

doctors in saving the girl child.
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The CEO also wanted to improve the health services in rural areas all
over the country. He decided that all doctors must work in rural areas for
at least six months. He also decided that the paramedical staff should be
employed locally.

(a) Identify the incentive provided by ‘Goodcare Hospitals’ to its
doctors through running trophies.

(b)  Which need of the doctors will be satisfied through the incentive
identified in part (a) ? State.

(c) State any two values that the CEO of ‘Goodcare Hospitals’ is trying
to communicate to the society.

i wfayfd wa fafee a1 o geamcns &l 1 Seoh@ i |

State the protective functions of Securities and Exchange Board of India.

gita 1 AN, soieeiem faftee’ @ omg.wm.e1E. (IS U 6t U fig sve
‘T S S aTRET WA @l | gEER | WefH Wi Tmfud i % e @ T
) T A % AT FET | IHeR T, a9, U soaeie Ieaal S |1 TEn
AT IgA THG KA AT | IHA G hl Hal b A T TAHT b foIw et
gfafafer st wdfterm s it I3 TavIshal T8l 8 dYT 98 Ig M H Hehal 7 |
3d:, ST 4 3cUTeeh o THexnl bl Ut fopu form Afia ht Temfuq ot feam | emy
T e Ay ®9 § w1 R a0 gars =St g8 | |feed &1 i o aeEm
WRIF YeTs =5k o o9 W &g 891 I® & T3 | Ha q« T 4 7 1 =
T I TG HIRI hl TAlehd o 319 TN § 3EHA & | 3 a4 .50
sog e fafies’ | wroeh fohaT, [NwgiH I8 gd g el g &id % g w0
R oo fob et gra msfar st oo &t i S oft |
(%) TH T IUARR & A1d gia gra Fatg fohe S aret 39 IweiiRiea &1
Iooig <hifoTe ora® o8 HFat <Al Tamd 9Ted T HehdT 9T |
(@) W foral @ ATURR 1 H&W H TSy SHeh ST giua gra foram s
g? oT Jfe ITF UM () W UgIH T AU ITEIRIca 1 THaig foman
|
Sumit purchased an ISI marked washing machine of a famous brand
‘MG’ from TG Electronics Ltd. The shopkeeper asked him to wait for two
days for installation of the machine. His friend, Vivek, was very fond of
experimenting with new electronic products. He told Sumit that there is
no need to wait for the company’s representative to install the machine

and that he could do it. So, both of them installed the machine without
following the manufacturer’s instructions. Initially, the machine worked
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effectively and the wash was good. But after two days, the machine
stared stopping in between the wash cycle. Sumit and Vivek tried their
best to start the machine but failed in their efforts. Sumit, therefore,
approached TG Electronics Ltd., which refused to provide any service on
the plea that the installation of the machine was not done by the
company.

(a)  State the responsibility which Sumit had to fulfil as an aware

consumer to get the services of the company.

(b)  Explain briefly any two rights which Sumit could have exercised
had he fulfilled his responsibility identified in part (a).

A 1 1 37 7 2 3Th! Tehal oW faiwanedt <1 Seoi@ il |

What is meant by co-ordination ? State its any four features.

e Yeu % PEgd § fooa @k fafiee’ soagites aeqsti &1 Ut fwiof
U9 7 | g8 H feud s ufaanht soieeit-es aeqeli @i il i arel 3EM
“Tran faafteg’ i ga § a8 +0 1 i S @ 8 | Hiomes ™ Tar g
% T 3 THASTehi, UTaehi, STaAITRIT q STgfaehaletl i Afgdra afeafa
% HRUT oI &9 T YATfad Bd & | 38k SAfdiieh, SIeTd &9 O 39 &1 shl B
JrefeaTel ® gl Y, IR hl T, Teh-iehl TREdHT, SeTlG hiehl §
YT &9 W YT Bt & |

(%) 3IUYH Ieog H Afud EURON H fARwal H GEAH Hd gL TEHH

3eoid HINT |
(@) 39 YR % HE o Tohral aR oGl &1 Wi Ioei@ T |

‘Konark Ltd.” is an electronic goods manufacturing enterprise situated in
Shivpuri, Madhya Pradesh. It is earning a very low revenue in
comparison to a competing electronic goods manufacturing enterprise,
‘Nova Ltd.” situated in Mumbai. Both Konark’s and Nova’s operations are
affected directly by the investors, customers, competitors and suppliers,
which are unique to their respective locations. In addition to this,
individual firms of this field are affected indirectly by the factors like the
money supply in the economy, composition of the families, the
technological changes, etc.

(a) Identify and state the feature of the concept discussed in the above

paragraph.
(b)  Also, state any four points of importance of this concept.
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Teh TS B4 IE i o [0 ATE9Th M AT DI I hid o 99,
379N Tavg-aX o Uele IcuTel o1 Teh 3TVl IcUTgeh ST dTgdl o | 3| <@l
fop 3IcaTg W 9 iR SRl Wi YA | ek oft | 97 37 fafer qen wemsti
! W UrcdTfed T AR AT ST MUk T H GWA, TATGUI-ITRA qdT A1
Bl 9 eSSl R IS i drat @l |

UAAT 3TG] <hl TIEd THT IUNRHISTT gRI YA i I aredl THRT W 3T9Mh
1 M JEIA: higd o1 | 36+ 98 Wt "= b 39 foiw gfc=ifim < g qen
3I7h! THTfad Sfdafseanadi sl off <= § T@r 9 |

IS & ThaAv Td foweryor qon @&t fauve fRiee s & 9veEng 3§ gt =e
op 3JUMIAT a%q o oI I AT YW i TS HIFd o A B & | STHE
Toreft 3cute &1 T @ 99 Wl S« 3 I8 ITEE g W foh I i
oI HY-T-HH 3T gHT YA T TS HHd b TR 2 |

S 98 T ¢ IR H YW o T o1, 7 I8 3w fRar fR @ mef
ANl I QU F& R AT | 98 SHar of T ety § 3 Sed™ a9 9%
Sfifd 7€l 18 Hehd1 9 T T =9 v Afgd aft ArTd 9 7 8 S |

30 IR & 3cargl ot TraEr SR foRivaredi dur IuwhisTi i srufed
wicfshanati 1 H adieror foRa | 31 &M W Wd BT 36 UehiorT H F© 3ifgd
forryaTati w1 SeT qe 3caral < Yo Te-faawer v ot o for |

ST feufa weh STaumen @ wraf-ua g S fob foauvm 1 v gureht gfoamft st
2 | 39 Jraygron | qui gfaenfirar i feafa # stfemprer wH Icarei dem dansti @
fomum < fog weh-gat & Wfcaiar st 3 |

(%) STEERON I TEEH HIT |

(@) 3T feufd o afdd 9 qgart T8 A9gRn ¥ Hraf-ad fohegl =R e
%! Ga § q9esy |
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After acquiring the necessary knowledge and skills on starting an
Aloevera Farm, Ashok wanted to be the leading manufacturer of Aloevera
products worldwide. He observed that the products were expensive as the
demand of the products was more than the supply. He was also keen to
promote methods and practices that were economically viable,

environmentally sound and at the same time protecting public health.

Ashok’s main consideration was about the amount of money paid by the
consumers in consideration of the purchase of Aloevera products. He also
thought that competitors prices and their anticipated reactions must also

be considered for this.

After gathering and analysing information and doing correct marketing
planning, he came to know that the consumers compare the value of a
product to the value of money which they are required to pay. The
consumers will be ready to buy a product when they perceived that the
value of the product is at least equal to the value of money which they

would pay.

Since he was entering into a new market, he felt that he may not be able
to cover all costs. He knew that in the long run the business will not be
able to survive unless all costs are covered in addition to a mininum

profit.

He examined the quality and features of the products of the competitors
and the anticipated reactions of the consumers. Considering the same he
decided to add some unique features to the packaging and also decided to
provide free home delivery of the products.

The above case relates to a concept which is considered to be an effective
competitive marketing weapon. In conditions of perfect competition most
of the firms compete with each other on this concept in the marketing of
goods and services.

(a) Identify the concept.

(b)  Explain briefly any four factors discussed in the above case related

to the concept so identified.
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FHE MY A dH WEH qE U MR fuar § VAT Hiet sl @ At
ToRaT | 98 W HFOT ST TSATEH 3T=ST A AT | S HFIHT oh (SIS i 9¢H 6
T gg Hepfeud o1 | 38 <@ foh hrat | IcdTed fafert qen =il o1 =
Janfes & o |

g AT o7 foh SRIGIerdr o1 dgM % T had T & gen Tt fafy gt
2 | 354 98 oft egwa for T v eR 9@ fafyr faefira &1 It &, @t et <6
SR ! 3 T =3} fafe’ 1 Hiwa & forw afafera feran srm =nfaw |

394 IcUTeH Yok ohl 99y 3T<a] TafY el o a1 STawaes gfieqor 24 &
e a1 | fofis weUel @ ST9d g SRTEH! o A 1 U o | T
R, AT AT hed HIA o foT¢ TAM AT UTEeh! ol IcITE o faaiul deh,
3CATEH Ya-geh 4 39 fafy 1 fowa fohen | 39 fafyr =61 weqol wmes § @ femam

T | 399 IATEH | glg, ToEd H YR 9°T AN U9 399 H HHI § GgTd
fieft |

Sy feufd # IcTe Jeirueh I HAUATY T ISTeh Saee o fgidl wd dehish
1 IgEH IS a1 3= Uy |

Karan Nath took over ‘D’north Motor Company’ from his ailing father
three months ago. In the past the company was not performing well.
Karan was determined to improve the company’s performance. He
observed that the methods of production as well as selection of employees
in the company were not scientific.

He believed that there was only one best method to maximise efficiency.
He also felt that once the method is developed, the workers of the
company should be trained to learn that ‘best method’.

He asked the Production Manager to develop the best method and carry
out the necessary training. The Production Manager developed this
method using several parameters right from deciding the sequence of
operations, place for men, machines and raw materials till the delivery of
the product to the customers. This method was implemented throughout
the organisation. It helped in increasing the output, improving the
quality and reducing the cost and wastage.

Identify and explain the principles and the technique of scientific
management followed by the Production Manager in the above case.
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24, Tafya Tohiiehl U9 URIGR 9G1 W A AT i 9l g9 A SR fames’
q AgE W & UH gEniua fovafoame @ gvad R | 3 wen & fafim
fifat o fere arm, fig, i qen =@a &1 == fo |

T qYT XA & &g AN g foafee’ 4 fafime wm=f i sgaw &1 @
fromfea s & o wd=niEl o Slwa T@ IrEa § glg o gfedehion |
FehTIcHeh Tohrd shi TTavahal JHE i | - 4 98 Wt srgwa foram b T
Il Shi TS HHATAT oh i 591G H ghg SN | 37q:, FFHT 4 86 T
HRIaTE A 1 o form |

(%) Trgfretor gfsham & 38 =0 &1 AW e RSreeh drmarg § et |
HETE! A 1 o foram |

(@) 38 $HaE & HaEEd AN 3SET fAMeg @ B ol Al W
3eoid HINT | 6

‘Moga Industries Ltd.” approached a well established university in the
city of Madurai to recruit qualified personnel for various technical and
professional jobs. They selected Tanya, Ritu, Garima and Chetan for
various vacancies in the organisation.

After the selection and placement, ‘Moga Industries Ltd.” felt the need to
increase the skills and abilities, and the development of positive attitude
of the employees to perform their specific jobs better. The company also
realised that learning new skills would improve the job performance of
the employees. Hence, the company decided to take action for the same.

(a)  Name the step of the staffing process regarding which the company
decided to take action.

(b)  State the benefits of the action to ‘Moga Industries Ltd.’

25. Ueh TS hi TARM S SAETIHRATS I THIG i aTcl Teohral =R HIEHI ohl
e | g9gTs | 6
Explain briefly any four factors affecting the fixed capital requirements of
an organisation.
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